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= 960
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ey 1,008
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401 AlEHIZ S OHbI 10,420 10,420 0
= 7,290
= 1,565
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OAIZAIE 22EH 9
220,000 #3504 A 7,700
= 5,390
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= 1,185
OAtZ" ZJE8d 89
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= 1,900
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o 410
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401 Al HIZ S 0HbI 14,000 50,000 /36,000
= 9,800
< 2,100
s 2,100
01 Al&H| 14,000 50,000 /36,000
OAZE 2t 7,000,000& 24 2 14,000
= 9,800
< 2,100
[Ea 2,100
=223 76,320 129,158 A\52,838
= 40,372
== 11,383
[Ea 24,565
o Halls Al 24,564 42,426 A17,862
= 14,494
=S 3,684
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= 1,216
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= 7,571
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HY2IGHI(AZF L) (DIEHDIE 117,570 118,571 1,001
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101 @124H| 62,862 70,505 AT,643
01 &= 62,862 70,505 NT7,643
OLE st AR 22+H 62,862
—2ey 62,862
62 12,8443 +6E #40Al 2t 1200 2 36,991
= 11,6022 «2E *40A| 2+ 120 2 11,138
8= 10,4162 x2E *40A| 2+ 1200 2 10,000
9= 9,860 x 1 #40AI 2t 1200 & 4,733
Jl=23H 54,708 48,066 6,642
Jl2dtl(atE s 44,820 20,160 24,660
201 fet= 3| 21,960 19,320 2,640
01 AtR2tc|HI 21,960 19,320 2,640
OgRFL MRES 7
10,0003 » 142 %1270 2 «80% 1,344
Oge=d &It SALEA
25,0003 14062 A 1270 2 +80% 2,016
Ogex=d S8 gie
500,000 *1CH*120H 2 «80% 4,800
OXZglH EY F(5%)
250,000 *9JH*32/ *80% 5,400
O=Zgd Y 7 (ZdA)
300, 000 *4JH+32]+80% 2,880
OARI1I1 =2l S MHIZ
225,000 * 12743 +80% 2,160
Ol Hi% 2 =H AL & XS
120,0002 x14H 2 3,360
202 04l 22,860 840 22,020
01 2LHoIH 22,860 840 22,020
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